
Word Problems – can you solve these? 

 

 

A large Victorian house was built with 35 901 bricks. A small Victorian house was built 

using only 7529 bricks. How many bricks would it take to build a small Victorian house 

and a large Victorian house? 

Caiden goes shopping and buys a pair of trainers for £374.65 and a t-shirt that costs 

£540.22. How much does he spend altogether? His friend James joins him on his 

shopping spree. He buys a pair of jeans for £792.45 and a coat, which costs £961.11. 

How much do Caiden and James spend in total? 

48 904 home supporters attend a Brighton match at the Amex Stadium. Only 3826 away 

supporters attend. How many supporters watch the match altogether? 

Brooke buys a new phone, which costs her £623. She also takes out phone insurance 

which costs 12.99 a month. In one years time how much will she have spent altogether on 

her phone? 

On Monday 789 563 people visited Churchill Square. On Tuesday 1 892 367 people 

visited Churchill Square but on Wednesday only 23 965 people visited. How many people 

visited Churchill Square in total over those three days? 

Leylan buys a car for £89, 789. He pays for his car insurance, which costs £4351. How 

much does this cost him altogether? The next day his tyre pops and he takes his car to 

the garage. It costs £322 for a new tyre. How much has he now spent on his car in 

total? 

Lichelle goes to PC World to buy a new laptop, which costs her £1566.78. While she’s 

there she also picks up a new printer priced at £156.32 and a mouse for £12.89. How 

much does she spend in total at PC World? 

The Smith Family book a holiday to Disney Land, it costs £987.34 per adult and £611.71 

per child. There are 2 adults and 3 children in the Smith family, how much does it cost 

them for their holiday in total?  


